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1. Answer the following questions : 1x7=7
FTfoREamT MY Wi foag—
(a) What do you mean by the term ‘TgH’?
Ve 3 e Fsed:?
(b) Who did conceive the idea of IRGT?
T ARG YROT e ?
(c) What type of g F& is?
gae Tm fF & arg?
(d) What is TT9g9=q1?
e 3fq o mafa?
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(2) - (3)

(¢) What is the name of the book to which the (c) What gap or sequence should be maintained
Lilavati does belong as the first part? during the plantation of trees according to
STETH? JEITES F: FASTICN: 3 TEERATER
forarg |
(f)  What type of Mathematics has been dealt
| with in the Lilavati? (d) What treatment is to be adopted when the
S R TR Sy plants suffer from fruitlessness?
JHVT Gl T Rrfeamar: A
(2) In which Saka year wa s
s B ach
' Rl haskaracarya
3. Answer the following questions : 5%x3=15
HH I A IRA?
Ao RadRTaEe ST freg—
2. Answer the following questiong brieﬂy : 2x4=8 (a) Write a note on Gﬁl’iﬂﬁ'@.
a“ﬁﬁﬁqﬂm‘lﬁw WA TR FAEATg T v feeeft g
(a) 'What meanin Or / ¥4l
L B bg do t_hf: terms Ffofi and ot
00k Lilayaro « . geddr temfediom'—Explain  the
AT orey EL I v sentence.
e “. ..eed ool —fT A
(b) What ats ' USREL
the W@ﬁmquare i of TR discussed in
Of the Brhatsamnita? (b) Write down the summary of your prescribed
T TR 3 et text of the Lilavati
ey ‘BT’ TreRTaTESI R WRIAT: STETHY: |
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(c) Explain the following : Or / 9dT
= Explain the following verse with reference to the
(i) TS AT FOSUHAT T T | context :
HET=Ses T T o e ) TIEIEAT T T T STRITT—
}; O ﬁmt-fm ST TS ERTEoaAd: |
| : _ RN e gre B s |
| (ii) WHE A el Ffiaae A
| Fuig I ¥F: TV YT Tftem AT 1) 6. What type of land is necessary for plantation?
| ; Which trées are to be planted initially? 10
4. Write a note on life and works of Bhaskaracarya. 10 ? a7 dial ){ﬁ[; FE? # E q‘:-fq\ Uil
T Wi Fid 9 SRR A |
Or / 3r@T
Or / 947 S

What rules are to be followed in connection with

Discuss how the units of length have been fixed by the sowing of seeds? What steps o ibe taken

Bhaskaracarya. for the germination of tamarind (F1S)?
‘ eI TRl REREET FY Frefaf ARt | s :
? L Rt i rgfes et

S. Present a discussion on the salient features of the oo *

houses of the T and Fmafa. 10

TR Tt 9 f gReT Mo defvd st

A= |
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